Multinlicati | Division - Polar F

z;=ri[cosb, +isin6) ] 2y =r,[cosO, + isinb, ]

Z1 %z =1 X1r[cos(6; + 6,) +isin(6;,+6,)]

Multiply the Modulii,

Complex Numbers
QTO multiply complex =
numbers in polar form Add the Arguments

Example1
w =2[cos30 +isin30]

z =8[cos50 +isin50]
zw =16[c0s80 + isin80]

z1=r[cosB, +isind|] 2, =r5[cosh, +isind,]
2172 = 1y [oos(8, =6;) *+ in(8, = 6,)] 2 = 4[cos20 +isin20]

QTO divide complex = Divide the Modulii,
Subtract the Arguments

numbers in polar form



Example 2
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z=6[c0523” +lsm2ﬂ W—Z[cos2 +lsm2}
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= 3[0056 lsmd

zw =12[cos%” +isin%”}

= 12[ cos( — &) +isin( — )]

=12Lcow5g’—isin5g’



